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Instruetion :
I.  Fach question carrics onc mark.

P& R 5 28 Srdy. Sod.
2. Chuose correct answer to the following questions and darkcn, with HB pencil, the

corresponding digit 1, 2, 3 or 4 in the circle pertaining to the question number concerned in
the OMR Answer Sheet, separately supplied to you.

Qb 20y (DS |DEY D HGHD Dkrcr o FnFY @il Sedod woE 1, 2,3 B854
Mo oyt OMR Siroed S@iud® |HH)% Dowchold Dewgio Dezd
HB 2358 Hom Sohddiv.

BOTANY
1. Ideatify the scientists worked extemsively on chlorophyllous and non-chlerophyllous
Thallophytes. respectively :
I. fvengar ' iI.  Swaminathan
[II. Mehta V. Maheswan
D SBd Hard boly HE rbdd Sird @vﬁ‘:ﬁﬁt}:ﬁ B Hc’;ﬁgoﬁfﬂo T
TS ot HYbnm Kok,
. wofgorrd | S g FAT S
HL  Sosmme TV. iu'faﬂégﬁ

The correct pair is

2b JOoLR né

(y 1TV \.é I, 111

(3) 1,10 (4) HLIV
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2. Study the lollowing lists .

List-1 List-TI
{A) Trainingin landscaping . BSI
{B) Establishment of Mycological herbariom 11 CIMATD
(C)  Rescarch on paper pulp M. Rl
(DY Introduction of Setvia into Tndia v, IARI
V. NBRI
& 308 e Derud wiipabbo Jobod,
a1 eelar-Il
(A} erob o Dofd B L BS!
(B} 28ulcro wBabol oyt Bahd 1L CIMAP
(C) s B0 e HOFEH Ol FRI
(D) Fectr Jw¥yde sedatrd” @RdRgee V. IARI
V. NBRI

The eorrsct mateh is
26 dbebd ' 3ol
A B C ]

(y 1 I IV v
() V IV ! il
3, v [H| I v

V IV i 1l

3. Which of the fallowing two are the resultant of stipule modifications
L Spines 0 Ziziphus II.  Tendrils in Seilax
Il ‘Tendrnils in Nepenthes IV, Spines in . drgemone
Y. Thorns in Bougainvilleg

$1 30D A’ J Bod HBHTw drarodd phso

1 23506 Lobseen L @By LDOEKw

Il Ipodoes® Ldsde v. HQEI‘SﬁﬂﬁGﬂJE'EJ

V. SfHSaaters’ dug,

The eorrect pair is/ =l Jpobs =48

(1 11 i LTI (3) O,¥ 4 NLV
Hough Work '
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4. Which one of the lullowing conditinns is seen in the roots of a plant having submerged
assimilatory roots and spanpy petioles 7

{1} Troarch

Monarch
{3) Tetrarch
(4) Drarch

S Svmficvod :}-Soﬁéﬂﬁm 3¢5 Hook “-‘D”ﬁ Do D Hyoerods ZDANHOD
Ry DFS® & Bob géj@é’ﬁ D0 EDDhu0a 7

(1) (BPed odoko
,m/ 2% Bk oo

(3) S8k B o

(4) B¢ DS ardiso

3. Identfy a pair of the [ollowing plants which show modification of axillary buds into tendrils
and hooks respectively :

. FHugonia ' II. Duranta
II.  PassifTora 1V, Disscorea

g0 (Bol &-AS® |ASdy T, LOSKM, FF) e Sraroddo Dod whw) An o msd
HQodod.
L Joffoole ' I &ovoee

W >ugo V. o 8o
" The cotrecl pair is
ad OO wd

{14, LI _ (2) T 100
m, I 4) IV,I

Rough Work
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6.  Study the foliowing Table : B
L False {#hurl like | Many sesstle bisexual ﬂowers. Leonotis
influrcscence ) |
I | Single flower like | Many stalked staminatc and pistillate | Poinseltia
mflorescence ﬂuwcr&; |
Il | Fruit — like inllorescence Many scssile staminate flowers on | Fieus
the top and pistillalec flowers at the
base and sterile flowers in between
V. | Fleshy a-:-;is ol intlorescende Many stalked staminate flowers at | Cotucucia
the hase and pistiliate tlowers on the
| top and sterile flowers in between )
s |30 DEER wPgonio Hobod
L | wiys dooto erott S Byoil 52rs ByDONE | atrSes
)iy DRmERS 0 Lo
I | 38 Do Hod i oY Hyo8 aid Hdh Do & | SrouFugoldr
REE 0 Qeryos
1. | $eo Dod Yy dmgRe wRE Syod Bird HWA DLy .
wifod®, _?.j_:j; QAo e oS e HES
Hose Diryen s '
V. | 60 iy Degd eI Hjosows HEN Hrw | Fodiot:
. werdodst, Iy ddrjee wifod®
- Soboi Doy ke ?‘mcﬁgeﬁ“‘
The correct pair is
50 HO0LD wé
\JX 1 11 @ LIV
(3 mm @ ILIV
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7. Read the foilowing lists :

A

AM 2008 A

List-11

List-1
{A)  Gall flowers l. Theobroma .
(B}  Sympodial axis O Bougainvillea
(C)  Achlamydeous M. Fieus
(DY  Cauliflary V.  Kuphorbia

V.  Hemelio
81 (8ol e Do ok wdgahino Dohod

T | arfgr-I1
(A) S Hryen L. ey paey
(B)  wdrudrd wdo L. 3PS 28
{C) Do Yarsa o 39
(D) Psrod HFEND V. ool ole

' V.  radote

The correct match is
@b HOobS 2°5

Ay B © @O
(T v 1
2y II v I

o
L
3y i I I I
.w)m L A I

In the flowers of a plant, the ovarian part is fused, but styles and stipmas are free. Its ovary
becomes unilocular due to breakdown of partition wall and the ovules are atiached to a

cengral axis. Identify the plant.
K Dianthus (2)  Abutifon
o5 Ay Paryud® wocrdch erie HDeakEd, derew, Sorpro DG Gasmy0s. L0

woorfobo @it DAJpeREe by SEDuiPios Dbof eomres Soldod
w8 vl dotron. i T HBotn.

w/eéoi:eotﬁf_: {2y watiurS (3) Johotr

(3 MNymphaea {4) Michelia

(4) Dgock

Rough Work
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9,  Arrange the following fruits in descending order based un the number of locules in the ovary
from which it develops :

1. Carcenilus , M. Schizocarp
. Cremocarp I¥. Repma

& Boh Porod, e 26d@ sowiolrodd Dore dopg seedom i e
|Bdnod® wiwdyyde,
L sidhydheo . sy
.\ Edrse6y V. 3o
'Fhe correct sequence is
28 BHOLD (Fawu
LLIV,ID (2} LIV,HLIl (3) I,IV,IM, 1 (4) 1 NLLIV

10, Identify the characters with reference to the plant in which eight nucleated embryo sav was

first studied by Strasburger. '

I.  Micropyle, chalaza and funiculus arc arranged in the same vertical line in the ovule,

L Presence of hoth unisexual and bisexual flowers 1 the same plant.

L. Filiform apparatus helps in conduction of food materials from endosperm to egg
apparatus.

TV. Long funiculus coils like a watch spring aronnd the ovulue.

Q‘}Emﬁﬁ 230 wdHgohne Fnd s Sodsre E:Dd%‘gaﬂ*eﬁl g8 otoy sy &

DOROHUIN LERrON hEoWiy,

I wodod® wof gdo, Sorer, wodiyado 28 Dond On o edbohodros.

I o8 3wy R J% Do ©bols Sgdoll Harjer Jodks Ao&raw.

ML wodide ok iy Ha So Mo ulis torgre Sarer &, DIFEH

SHEdo E*Eég@émﬁ.

V. 2dmd sosdyodo, wodo thar ABPSH B190k oo HEuEY aotsed.

ldentify the correct pair.

A0S 2k Ko, |

(I LIV (2) 1,1 \m/ LI (4 OLIV
Hough Work :
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11.  From the following identify the two correct statements with relerence to meinsis, |
| Bead like structures are absent oo chromosomes,
IL  Displacement of chiasmata oceurs in diakinesis.
I Separation of two basic sets of chromosomes.
IV.  No division ol centromere.
Eonsdenm Lgfesd Syghe € [Bod o0& Todk DO argpgod Hgothidy.
L [SSrdiwod o dot dompres ¢od.
1, §D.33*ﬁﬂaru thesdo daﬁ?‘éﬁ)?&ﬁt’i‘ 228300,
H. Soth (Eardtiue doro dad aadbde .
IV, 208%0ab8 defed wdiic.. '-
The correct statements arc '
~OGhD g
I, I () WV
{3) I, 1v 4y LiI
12. Ina DNA segment having six coils, there are 22 nitrogen base pairs linked by two hydrogen
bonds. How many cytosine bases are found in that segment 7
vl Loddon o DNA pobddod® 22 Hdad griwdw Do 8 =S nogre H8
RORe Bod Pavyow. © poddod” ATy PEDS Frovevolr an? :
(ny 22 uej/ 38
(3) 44 4y 76
Rough Work
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13. . H. Shull observed inbreeding depression in a plant, Miller and Letham isolated a
hormone from the immature sccds of that plant. Which ol the following character s NO'T
associaled with that plant ?

{1) Atactostehe condition in stem
{2} Bundle sheath in leaf ‘
(3} A hromosomal number oi cndospermous cell is 30
Medulla absent in the ool
2205, 45 o8 ) & wos: |(Padd §ndd Hiood. @l ¥y g¢ ddare ol
web, DESor uf SR B0 Drm. & Bob ofrod’ 28 o e E
Bonofoned v 7
= £ B, o
(1} Sodod® Jerg .ﬁﬁcgé
(2) D Bod® Yowd Fehoib
(3) » wOBBS Smod’ | S ardwe Hogg 30
St iy & odd
14. Read the lollowing lists :
List-1 List-I1
(A)  Extra fohar nectaries L. Achras
{By  Schizogenous cavities II. Tropueoifum
() Laticiferous ducts M.  Passiflora
(17}  Hydathodes IV, Eucalyprus
V. Pinus
&1 B0l wedeod wyubdo Hotod
a1 ernli-11
(A Yinse S¥dod oo L es| 50
(B) Dd Hearorey II. |y 20T O s
() erdhREh arveen Nl ordgror
(D) ww dogre V. uﬁ:ﬂéﬁéﬁ
V. ?.Eiﬁﬁ
The correct match is / =& D0GHD i
(A) B ) (L)
{1} I 1 | IV
j%/ [l I ITI IV
1l b4 i Ti
4y ¥V 1 i 1
Rough Work
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1y | Drimys

@ﬁ/ Selaginefla

A AM 2008 A

I15.  The tracheophyte characterized by habitunl heterophylly, absence of campanion cells in
phloem and presence of vessels in the xylom is

(2)  Pteris
(4  Onetum

©)® Donod Pin HE S, JNE Smeroud” ST Lo EQolvodgdndo, o=
593&1@:&55"&: Ty Ui 3Qubodan oo Lﬁdﬁ;uﬁ | Podrper Ak

(I) |[BS (2) Tbo
M DRI ) Do
16. Study the following lists
List-1 List-11
(A)  Arachis L. Basket making
{B) Mangifera I1. Saky
(C)  Cajanus Hl.  Fixed oil
(D} Oneza IV.  Diuretic
V.  Nitrocellulose
Si (808 wrDeroid sdgalido Fahod
- whe-] erDae-11
(A} oo L anho Surd
(B) #Aro=doe I o8
(C)  Berdd W DO 48
(D}  aBer V. 5o 8085 570
Vo 318" hengstE
The correet match is
78 DOGHD B0
4 B © @O
Im IV i i
) 1 It IV v
(3) MW I v v
hH v In I} I
Rough Work
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L4

17.  Study the ollowing related to uses of plants and identty the eorrect match for sorghum and
cottan respectively :

L Blood purification and organic fertilizer
i1, Animal feed and paper industry '
M. ‘B’ Vitamin and cosmetics

1V, Explosives and orpapic fertilizer

Mo addroud Howodelld & (8o & ot o, &,
\Bdrd-Sorr HodTeh G0 o,

L 8% %8, Dupoh N

Fi
LET
2

T Hapw oo, SoREY DO(ED

I B Oalnd, ﬂ“uéég SiasTen

IV, Do HErgeed, KoiBob J8Rg.

The correct pair is

al DOQLS ed

(1) LT 2y ILIO

(3) I, IV - N7 e [\

18,  Which ane of the following tormed in Spirogyra is different based on its nucleus ?
b/‘ Zynospare {2) Azygospore
(3)  Aplanospore {4y  Akinete

S RTS® 2873 $1 (Bob 0 Fodlo wardorr 20 DTG 7

M( Doy ?Jrié flza (2) wdoony ;"‘bca”) Hao
(3) Jfyo b He2o (4) wEIE
Rough Work
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19.  Assertion (A) : ‘The life cycie in Funaria is called diplohaplontic.
Reason {R) t In Funaria, there is altemation of haploid gametophytic and diploid

sporophytic phases, one becaming parent to the other,
The correct answer is
{1) Both {A) and (R} are true and (R) is the correct explanation of {A).
(2) DBoth {A} and (R} are true but (R) is not the correct cxplanation of (A),
(3) M A) s true but (R} is false.
(A} 1s [alse but (R) is true,

DAY (A) + gRouYe 408 sy dgob D HILo wote.
2Op0 (R) 1 PHEROreS® 98 HdY Hodrd Dad hdok gk L8K oy Dexdd dden
NEROSTOT trotr o, ulok a8 o D8 DFEY b whaan.

S8 DOl e

(1) (A)Sbub (R) Bodr H0GLH. MBuib (A) £ (R) HOGL0 Mbbs.

(2} {A)Ddals (R) dodr D85S, 50 (A) B (R) J851D Judiem s,

(31 (A) HBOLEE 5 (R) DOSHDE 5o,
7 (A) DO % 50 (R) H0GLHA

20. Read the following Lists

Lisi-I List-II
fA)  LCxarch L Rhizome of Piaris
(RY  Fndarch I, Roots of Pleris
{CY  Mcsarch HI.  Pinnule of Cveas
{I}  Pseudomesarch IV.  Trimary stem of Preris
& |Bab erDerol wigoide Sabod.
wLor-1 -1l
(A erdeg | D65 ardEo Lo BOD SRy
(B)  wodd Bk ohie N Boh I
(Cy ?’mc‘,ﬁg (R wrdsgu I ';'iéﬁ 2B350

(DY herg fadp Dk orthfo V. BBD &b srodo
The correct match is / 28 HHGLD 2°3 05y
[A) {I3) () (D)

{1 1 111 v T
2y 11 v HI 1
I, Y I il
@ I H I Y
Rough Work
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21.  Study the tollowing lists
List-I List-11
(A)  MI13 bacleriophage 1 ds RNA
(B)  Rice dwarf virus 1. 33 RNA
(C)  Cauliflower mosaic virus . ss DNA
{00}  Palio virug . dsDNA
&s 300 e ul wdgodio Tabod.
Lk | w11
(A) M3 erftots o I Bot JfFhe RNA
(B) %06 argbny A0 . &8 &4 RNA
() TOENE aweranS Jn ML o8 255 DINA
(1) DG BOD V. Both e DNA
‘The eorrect match 13
26 HECDS oY
A) (B} L) {I
111 I IV u
{2y 1 I 1 I\
(3y I Y [l I
(4y TV I I I
12,  Assign the following substunces o the cell wall, flagella, *s” layer and pili of bacteria in
COITECE sUquUened |
1. CGlycoprotein II. Timbrniin
1. Tewhoic acid IV. Flagellin !
& |08 habndd dorgroi w§00fr $w Sddo, Lo, o5 ErS Hbokn b o
Roobd (ERol” wiyowothiw,
L 3% @ I o3
N 28owd el Iv. 8
The carrect sequence 15
26 0000 | S
(L N1, YT I IV, L 1 (B W, TV, L 1 (4 NIV, L |
Ruugh Work
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23, \zl;gify the fungus which produces chlamydospores from dikaryatic mycelium.
Sphecelotheca sorghi (2}  Rhizopus stolonifer
{3) Pyricularia oryzae (4} Colletotrichum falcatum
SeSo|lond Emrul 8% Fdo erwo Hiod Foand’ 2 Hiage ity ddNd T
'?bDLD‘:'.& ABood.
BARER-Dcy {2)  BEOD Polph

(3) PbEgBOuYr 288 (4) FOETED T o

24, Study the following lists :

List-1 List-I1
(A)  Blast disease of Rice L Dikaryotic myeelium
{B) Citrus canker II.  Bingle celled conidiophores
(C)  Grain smut of sorghum II.  Gram positive bactaria
(D) Red rot of sugarcans V.  Septate conidiophores

_ V.  Gram negalive bacteria
& |800 erderuin wipohbo Jabad.

arDa-1 aro-11
{(A) 4D ®»n Bihew L agSoahd 3Do|kerewo
(B) N&S seadb Brew I 2F Smod BIAGTT G

(C) T homstdanw M |m& 288 o §oond
D) D% Y D Bibe V. s dorw o FARTrd i
V. (™S 3088 rfoond

The correct match is
28 OGS &30

{A) ((B) (O (D}
() IV VUl Il

RY v 1 I
(3) I )i |
(4y I I I \i
Rough Work
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25, Identify three of the following plants which exhibit the physiclogical process described as
‘Neeessary BEvil' :
I.  Poiamogeton II.  Sagitiaria
HI. Limnophila: V. Nemphaea
“obigERd edfe” m sOodad |Sofrd)s Dorardy ©A0yed Hardy Ew o
FMoB o s,
L PerRrstrd I r2F0elr
L. SRryber V. Rotobhe
The correct match is
28 HOFH F*aoY
(1) L3 I, 111, 1V {3y LU,TV {4y LI IV
26.  Swudy the following tablg :
i1 Peperomia Leaf succulent Leaf epidermal cells
' _Store water '
HE Calotropis Non-suceulent Root  cells with
o -thickened cell walls
I | [ribulus Lohemeral Stem stores water
V. | Ammaphila Dicot plant Rolling i of lzaves to
o check water loss
|Bod 2E%% agaiibo Tohod
I. 2HE ol $LS0E Dome 2y | D|E "a:‘a’rg 15:5@ ooy SR |
NEg o
TS Soefodo 50 dng;, | B¢ Serer od@d Darguk
SO0 Gloodr o
oI | eenged wens DL Ay TG0 DEN Jog Tpod
IV, | slmper 805 % D 2wy, A Herdy ©OELWIE Dleven
STHDT DgpFiotraw,
Identily the correct pair of angwers,
VOGS marane el Hidodod.
L1 (2y 1,11 (3) 1,1 ¢ 1L IV
Rough Work
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27 Study the following lists :

List-[ List-11
(A)  Mutation breeding . 1. W.L. Johannsen
{R)  Inbrecding depression Il.  Karpechenko
{C)  Pureling selection Hl.  Charles Darwin

{D}  Intergeneric hybridization IV, L.J. Staddler
¥.  (i.H. Shull

Bob = Doreiy ediyaldo Tolod.

zriee- ' arfla=-T1
(A) SSHDRES [Badde I WL &&8sS
{(B) o |G gmé T Td&agg’ﬁ
(€) B8 Do dwo S0 TR = 1SR = LT 0

(D) @’:&“égoégéﬁﬂéﬂim V. L.J.Qﬁg’gﬁ

vV Gi.H. 465
The correct malch 1s
ab Dol FGoy
Ay (B () ([
(n 1w It Y 1
(2) v v ]| 1
%9( v y i I
4) v v I I
Hough Work
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38. Assertlon (A) :  Citrullus vgaris is produced frant a cross butween 4n male and Zn
temale planis. )
Reason (R) :  These triploid sterile plants do not bear seeds.
The gurrect answer is _
(1} DBoth (A) and (R} are true and (R} is the correct explanation of (A).
(2) Both (A)and (R) are truc, but {R} is nol the correct explanation af (A).
(1) /{A)is true, but (R) is [alse,
{A) ia false, but {RR) iy true.
D380 (A) 1 HLES DB 4n YR 0ok 2n 19 wd) o Hoidn Lod DENERA.
e (R) ¢ & |SouD8E Ef:lc}qﬁg oy eo Dol 5&?0&:06&@.
ab JBOLS marw
(13 (A) fadad (R) Sode SO, FO0 (A) % (R) DOOLS e,
(2)  (A) &s8ofs (R} Jodr HOSDLRIL. 573 (A) B (R) 200G xdn hE.
(31 (A) DBGLHO 5 (R) AOGLDD 5.
() DOFEH 5t 520 (R) HOGHRG
29, Study the following table showing the components of water polential m closely arranyd
mesaphyll cells namely A, B and C.
Cell Osmotic potential (MPa) Pressure potential (MPa)
A -0.21 {(1.05
B -0.22 (.02
C - 0.23 (.03
[dentify two of the lollawing which show correet direction of water movement hetween two
wells. .
I A —B I B-—C m ¢ —A V., ¢ —BH
duyirdomr wigyadv AB,C wied ek Herodd rro I8 AsquT ol Srbod
&5 |Bud HYER wdgodio Dohuds.
gmu (DS 4 0 (MPa) S 4Ey0 (MPa)
A 0.21 .05
B : —{.22 .02
C - (.23 {3.05
& 200 2*0E Bath Ser e ddg HOGHD W Fek drgdy S Tolods Mhgoiod.
L A—HB I B—C . ¢ — A v, - =D
The correct pair is / AOGHR =
() LI {2y TLTII \({i, A% 4y U, IV
Rough Work
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30. In photoactive plants, during day time the following ionie flux of puard cslf is dircetly

mvolves the expendilure of energy
(1} Outward movement of malatc - - (2} Inward movement of porassium ions

V/Uulward movement of protons (4) Inward movement of chloride

FEDES S o HNY PE, 658 frred® & (Bod valrde Sudod? (BidgEom

48 QGIrR0 adirdiod.

(1) 2rEd 2endds SOodhé (2} Perbodo wolrdes STHOE ﬁé}oa:iaﬂ
[Erérdon Sendds $dethe (4) §'0& S'HO8 Shodw

i1

Assertion (A) @ Salt resistant plants survive in saling habitats by maintaining [ow
inlermal Na' levels,

Renson (R) :  Salt resistant plants get nid off cxcess Na- by ATP cnergized
AnlpoTter.

The garrect answer 1s
\({ Both {A) and (R) are true and (R) is the correct axplanation of {A).,
{2)  Both {A) and (R} are true, but (R) is not the correct explanation of {A).
(3} {A)is tue, but (R} is talse.
(4) {A)is false, but (R) is true.
DAyda (A) D ode PE IEE Ao 850 vodds Na' S ol AdgsroiKo
oo wibn eadrod” bl o,

8o (R) D b DEJCSE ok en ol Namd ATP 4§ scbd wod
GG reo FonowE okron. |
¥ POGHD warw

VT (A) SoB0s (R) Dotk DOTRD 2otk (A) & (R) SBELS Héte
(2) (A) %o0a%s (R) Dodr DOGHD 51 (A) & (R) HOTWS bty 5.
(3)  (A) HBTLHE 579 (R) HOGHHA =+,

() (A) HOEME 5% 5D (R) HOTHYS.

Rough Work
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32.  The net requirement of assimilatory power lur the formation of 6 hexose melecules in maize
plant is
oty S 6 END wmhe ulrds DZgom by rgofiso £5
{1} 72 ATP, 48 NADPH (2) » 90 ATP, 60 NADFPH
3y - 108 ATP, 72 NADPH 180 ATP, 72 NADPH
.33, The reaction which is catalyzed by a protein that is not found in the mauix of mitochondrna i
(1) Conversion of pyruvic acid to acetyl cocnzyme A
{2} xidalive decarboxylation of o ketoglutaric acid
(rxidation of succinic acid
() Cleavage of succiny! coenzyme A
&g o|doir B8 S0k |8 ed@ysbodad 0y
(1) 008 wiuo ubBd & JoBD A 0 o0
(2) - AG%Hee 08 wiy i BEE & s F)3B03
HE0E wiy wdy¥dm
(4) V35 g‘ﬂoﬁﬁa A aled s
34,  Identify the triplet codons which code for the amino acids serine and preline.
208, |RU uRd wiro SoSdom soid B8 Hoforain thiolod.
L uee L COA . AAG IV, {0
The correct pair is ¢ & S0QLE wd
(1y 1,11 (23 LIV (3} I8V \.m/ 1L
35. Identify rwo of the following phytehoriiones which regulate the stomatal movements :
. IAA I Ga, . Zeafin IV, ADBA
DESogro Sy EDEJDLE%\Gd f..‘.nﬁ‘g ”’uﬁﬁga:fxpua"xn Dudbodd Bl
I IAA L A, L &2e%SS V. ABA
The corrcet pairis /| 58 2B0LS = '
(h LI (23 1L, 1 o/m, v 4y ILIV
Rough Work
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36, Idenfity'the %\a“ﬁ?EJth ysiological effects of two phytahormones which are synthesized from

different amina acids.

I Formatien of perennating buds in Lemna
iI.  Simultaneous flowering in pineapple

III.  Bolting in cabbage

V. Apical dominance in Polyaithia

89 ¥ wire &od :m‘-in:eimo‘iag Jodr P& HFEpbe (Balee¥
@e,ra'r.:-ﬁ: mboﬁoﬂ -

L Sdme LYs=08 Susen (Rifen) Dol
L eds® Rk ody 2830 Hipotdo

M sHad 5°0of

v, éﬂ@&ﬁvguﬁvﬁ‘ B(mREd

The correct pair is

26 DOGTX wd
o, IV _ 21 LIV
(3) L0 4 LI
37. [dentify. the plants in correct sequence which exhibit msrcescent calyx, herkugamy,
mucilegenous cavities and inferior ovary respectively,
1 Sphaeranthus . Capsicum
1. Gloriosa IV. Kydia
| HBIT ErByRoS EEE HEHE, WELAD, B Sirore Lok ::;sa;l wo@Fuo
[P50)00 ) o HOGES (Eardy HhoED.
L m‘gmocﬁu I gD
i Fosrd V. Baod
The correct sequence is
af DOGLD (Kdvo .
() LOLILIV (2) ILIL NIV 3 ILULLV \m/u,m, IV, 1
‘Rough Work
provided by
www.manabad!.cor_n
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18. In an inflorescence, two types of small, sessile flowers were observed. They are arranged in
centripetal mannct and have reduced hair like sepals. Which pair of the following characters

are NOT assouiated with such flowers 7

1. Nector glands al the base of the corolia
M. Axile placentation

M. Supenior ovary

1V, Scaly bracts

2.8 Py Dergibod® Toth dsre D) BYod T2 PP HETHO0. ey Boedardon
ol dayow, SEE D Seion TrudB damjon. sduibod Parpyed® ek WEYR)
2D s ofrror Ebody ?

L wsfe Hore bigriiod w38 |Kofuw
M 308 eodTrgRo

11} EHQS Qowiﬁoﬁo

IV, Suine H088 QIR

The correct pair is

taf) é&@aé pai%

\(H/IL m

(2} TNLIVY
{3 LI
4) LIV

Rough Work

provided by
www.manabadi.com
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39.  Suwudy the following lists :

Eist-I
(A)  Arachis L
{BY  Cichorium 1R
{C)  Lifium III.
(DY Phusalis IV,
_ V.
& 300 wrderoi wdgalibe Tobud,
wrEae-1
(A}  woeRd L
By hEfsabo il.
C) ©dolo III.
) 2edR 1V,
V.

- The correct match is
R DG &'

(A} By ). (D)
1 1V Il 1l v
() IV I Il T
(1 v I I

v III v I

A

AM 2008 A

List-11

Swolen placenta

Epicalyx

Fascicuiale tuberous roots
Geocarpy

Rulbils

ada-Il

T AR &ac:.w:éaug:: Qv“n}u
RDOSE" DOBE D yhe
rbdbon Hodl oD Feh
gaeno

S e

‘Thalamiflvrae, Calyciflorae, Disciflorae, Inferac
{2) Heteromerae, Inferae, Discitlorac, Calyciflorae
(3)  Bicarpeltaae, Disciflorae, letaromerae, Calyciflorac
(4) Disciflorae, Thalamiflorae, Calyciflorae, [{eteromearae

S dopgd ud 20 0gHD eRF G m | Sird) Srbos. |
\.P( o 50, 0D B, &Yy, &0, as»0

(2) utins, asSo, &, 9T, SOL g9

(3) B=TEE, &y 0, =" Do, 30H P

(4) &%) 9%, $ord §T, 300 6, Trast g

40, yﬂfone shows the carrect descending sequence with reference to the number ol coborts ?

Rough Work
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41. Which of the following groups of orpansms are ecolopically similar ?
{11 Produccr protists and consumer Profists
(2} Meonerans and producer protists
(3), Consumer protists and fungi
Monerans and fungi

Bob £5 hrdred® divbin barg 2edrigd SLORD D7
(1) 830 ST ok NIH (e
(2) TwdESy wboh &338 (Sragre
(3) , MGt (Do ik 2o
oo ol Yoo

42, Statement {5} : In many gastropeds, the anus and the mantle cavity are placed
anteriorly above the head,
Reasun (R} :  During cmbryonic developrment, in many gastropods one side ol the
visceral mass prows faster than the other side. This uncven growth
rotates the visceral organs upta 1807 in many pastropods.

Thgetorrect answer 18
Both (5) and (R} are true and (R) cxplains {S).
. (2} Both (8) and (R) are truc but (R} cannot explain (S}
(H Only (8) s corrcet but (R) is wrong,
{4y Both {8) and (R} are wrong,
Fegwg (§) 1 weer TP T Sud® ot Lo [Frerdd Ddrdo Dol
Frorgodod” Suph Yo,
wino (R) @ wor My Par 2o doaddyd minobod of @ wodoun
[Shpo Bodd Hay 88y eBdorm Botiswe. wdars Dihie
wodgrol whobared 180° HEE SHHHiw Dokl
Al Hhokd warey
O (S) &bt (R) D, (8) & (R) SOGHS Db
(2)  (8) Hodafu (R) daiw, 57~ (S) 5 (R) NGNSl s2a.
() (8) &r(3D s, (R) Jadn S,
4y (8) Hbony (R) Jodhiy Juin 5.

Rough Work
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Siudy the following :

A, 1t is a terresirial Arthropod.

B. The prosoma bears a pair of chelicerae, a pair of the pedipalps and four pairs of
walking legs, '

., The metasoma ends in a telson. '

D.  First pair of walking legs aré modified as poisonous claws.

(208 el egipobibo Sciuin.
A @b X grmdd HQ‘;S&“@ )
(TFTErEr oE mf Bluores, o =d E&éﬂﬁam, Arenfly mado Soororres
S5 0L,
C. Sardiie Boyarr ¢odindd,
D. Twdd 2d 5ogh ) Rpaneur Srdroddan Bodva.

=

Which of the above are true lor Heterometrus

(1) AandC AadB
{3) AandD: {40 CandD
D o8 TrdT R otE: HOSHIN I 7
(1) A,C « AB
(3 AD ) {4y ¢, DB
44. The hilateria member that exhibits pentaradial symunctry is
(1) , Neomenia {2)  Nawutilus
Nenmetra {4)  Neopilinu
Hois D8P o DS8yoh Bodbodr £
(1) , Dok Soloks (2] T8oi
A SIrE| b 4 oRragar
45. The proteins involved in the movement of chromosemes towards the poles during cell
division are . .
{1} Actin {2)  Myuosin @ﬁ/’ Tubulin (4}  Elastin
Sra D wdd, |FRrdtm Bare 3 Kool 853 [ Pdsw
(1) ©35 @ mownS @ argwds 4). w3
Rough Work
provided by
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The animal in which the space between the gut and the body wall 1s filled with mescochyme
is

(1} Echinodiscus (2)  Enterobins

(3) Ewunice Echinococeus |
A Shnt, $08 Hargd? gy fo Foin, g [Hro Smerood dododipsy £
(1} =Rt (2) 20880d (3 obedd w’ JBFEED

Identify the type of Hapellum in Manas, Urceolus and Polptoma in their sequential order
from the following '

A, The flagellum is stichonematic,

B. Two or more rows ol latcral appendages on the axonemes.

(. The flagellum is pantacronematic.

I>. Lateral appendagys arc absent and axoneme ends as naked axial filament.

808 ofered ud Aned, edyured, POEre rtvel @ HHb [Svod”

0@ ok,

A. :nc;%f DbreeSE E-aegiiw |

B, eioh Sodif ook, wos50B R HDS® ardyy Domeren,

C. “aote |Bunrsb o

D, eich Sodiy wody grio, r:aaﬂucﬁ gargom, Sifhorr, Srdi Bogmew S&om
S ORI '

Answer

RO TALECHTE

) A,B.D (2} ACD (3) B, A C \,(-ff/ﬁ, C, D

Certain stages of Plasmodium vivax may survive for a long period in the liver of man as
dogafant stages and on reactivation enter into ong of the following cycles

F.rythrocytic schizogony (2) Exuvcrythrocytic schizogony
{3y Cyele of Ross 4y  Gamclogony
ST Gub BarSyd® Bl e, el sBoked” oot stou :ﬁ;;ﬁ"é"g@ﬁ
j?ﬁﬁu@. o gotidyyoe Bohdh ddhars |HH%ed K %o

58 He Dpod eddin (2) 08 S wrdrg Dok wRDEw
(3) e SR (4) T2STETD
Rough Work
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49, ‘Which one of the following abnormalities in the host is associated to Wuchereria,
Plasmodium and Fasciola respectively 7

A.  Parasitic castration B.  Hyperplasia
C.  Febrile paroxysm D.  Peritonitis °
E.  Lymphangitis |

The correct match is

(1) E,CandB (2} E,Cand A

{(3) B,Dand E ' 4y C,DandB

&d0ats, ARBao, Fhdirer Dovdy Eo S 8t sidohed® §1
P SnoR & HY |EoS®d hbotiiy,

A dovdy A 5maS B. 58 Privele
C. BBy domdyan D W0&AE

E.  SogroBdn

HOGHH wa
\@‘)/E,C,EI ’ (2) EC A
(3) B,D,E {4) C,D,B

50. From the following & digenetic parasite is .
(1) Taenia sofium {2} Wuchercria bancrofti

\93( Fasciola hepatica {4y Plasmodivm vivax

|Bod 'ﬁ.‘rﬁ"a}&l s3e5 e tgoare Bron Doy &

(1) &t FOHS (2)  &IU0u wro(sy
\(aj/ DGrer Deordse (4)  FTHdano T8y
Rough Wark
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£1. Match the following .

Set-I

{ Pheretima)
Phagocytes
Chloragopen cells

Circular cells

=R S R

Mucocytes

238 DS Sodu.
Beg8-1
(S0edEr)

A, Z§§§ S e
' wie Eppes

—a

D, A% fmw

The caorreet set is

' A AM 2008 A

List-II
{Cell features)

small cells having yellowish granules
clongated cells
largest cells with membranous folds

cells with characteristic markings on the surface

43%-11

(¥ ofru)
Sioipividy Tewapew EOMY Ty dereo
. gl Seren

Beodhend mutbeben EDRS B~ gegeey

Eep G 2DEwoR Léﬁgé oo ffu Ewrew

POSDLS mS
(1 A-13 B -4 C_—l D-2
(2) A-=2 B-1 C-4 D -3
{(3) A-4 B3 C-2 D 1
w)/ﬁ;—s B-1 (-4 -2
Rough Wark
provided by
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Study the following in Pherefima -
A, Dorso intestinal blood-vessels
B. External intestinal plexus.

(. Internal intestinal plexus.

D.  Ventro intestinal blaod vessel.

Arange the blood vessels in correet sequence of hlood flow from ventral Blood vessel to
dorsal binod vessel :

POErS” Bod Ul wzondo Db,

A Bgrog dE oyren B.  wrdvg wold D5k

C. wodd wo(d pian D, &doro|d §F orefin

&35 8% o¥o dod Hd SEawedE OF (Pacir 0" HT) B 9§ Tere HHQED
winl € Do,

The ¢ormect sequencc is .-

= ﬁﬁ@‘é Lﬁ:f.‘aJD

(1) T »B—sh—C () C—A 3B—D

3 B-sC-—D—A W D-3B—C-—3A

33.

Statement {8) :  Arthropoda are the most successful of alk the known animal groups.
Reason (R) : Arthropoda exhibit the greulest adaptive radiation and have adapted 10
diverse habitats.
) Both (S) and (R) are true and (R) explains (S},
(2} Both (S) and {R) are true but (R} cannot explain (8).
(3} Only (S}1s vorrcet but {R} 18 wrong.
(4} Both (8} and {R) are wrong,

e (8) Eﬂb&wblﬁoénéﬁma’:ﬁmﬁ’s Hgsja?ﬁw dipow Dnotdodlndd.
TSme (R) ¢ Jﬁﬁjn.."*'sww danes Hdﬁ;géi:ﬁ wuEre  (ShHolus) ﬂ‘.‘léﬂ:aﬁfll

Eﬁguwa snfoln wdy e gararol ebdrotne Aobods

\/S R Qe mﬁccfu $ W R QS0
(21 S, R Jdw 50 8 & R H0odTd.

(3) S Dmdw = R S5y,
(4) S, RBodr S3p.

Rough Work
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54. Statement(8) :  Super position images arv formed in the nocturnal insecls.

Reason (R) :  The retunulae lig immediately below the vitrellae and crystalline cone,
these are surrounded by rctinal sheath which absorb the lipht rays,
henee, suput position images are formed in nocurnal insecrs.

The correct ANSWET 15..

{1} Roth (8) and {R) are true and (R} cxplains {8).

{2} Both {8} and (R} are true but (R) cannot explain {S).

\m/ Only (8] is currect but (R) 1s wrong.
(4)  Both (3) and (R} are wrong.
Tgwg (S) 1 Rwedd Sosrodt Srdl rads Saboame :.‘fﬁ;:,d‘é:ﬁp.
edno R) M0 Sbsw Rproting’ BuEre® gwro, BT Swr o B8
Yo GHED T8 BbsE Hodsk. D8 thgr JBdho swdo
Hoded. 3D 508 Blerei yiren Hrdd FES Ralcirud
;L‘r:ﬁ;}tﬁﬁ‘né;.

0 GhR Wi

(1) (8) Sudoke (R) D, sudul (8) & (R dnboviaw,

{2) (%) fobode (R) Jedn 5o (8) & (R) bbowddds.

y( {8) Saiaw 570 (R) Sy,

(4)  (S) ubofn (R) Sudhes éfﬂu‘_p.

Raugh Wnrk

provided by
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55. Mateh the fallowing ;

AM 2008 A

Set-I Set-11
Al Pollen haskeat L. Rutterfly
R Pseudotracheae 2. Laceifer tucea
C. Shellag 3 Muosquile
D. Dutton’s membrane 4, Musca
L. ‘Well developed galea 5. Warker bee
|S ol el md Do,
SgEl 5¢36-1T ‘
A DEd wogen 1. bofY Do
n. g T OLITTHT LD 2. eEypbog
C. s . P
. @gﬁﬁ #eda 4. iy,
E, wrm edS)n Bold Rlalmig 5 En8 Sstiwn

The correct match is

OGS md .

A-5 B-4 C-2 D-3 L1
1) A-4 HEs Nckd | 1A EL
(3 A-1 B-5 C-3 D-4 E-2
4 A-3 B-2 C-4 D-5 E-1

56. 'Ihe larval stage of a harmful insect causmg a cavity like pathological condition it human
suboutaneous tissue is

(1)~ Naiad (2) Nymph

Maggot (4) Wriggler
Erddn wgHtodh Smarerd =8 S :boa:cdﬁi::: Hiporoh JEET SREE
do8d Aol &4

(1) Hoxud (2) Dof
e (4) Bi%
Rough Work "
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§7. The average trophic efficiency of transfer of energy from one trophic level to the higher
trophic level is catled

(1)  Assimilation etficiency {2} ~ Exploitation efficiency

' Linderman’s trophic efficiency rule  (4)  Gross pnmary production
w8 D0E Jrow od G D0E Jrond 48 D wolg DD Iwggo
(1) &sofstn Fhdso () |Kard Frisga

\3(} Sodbhes Lﬁiﬁng J&hﬁﬁﬂ; dre (4] Qﬁﬁ@ Lﬁﬂcﬁ;ﬁ&é &m;ﬁdb

58. From the following fish, identify the one with a aglomerlar kidney ?

i1y Sphyrna {2y Tilupiu (3)  Cirrhinns \m" Exocoetus
a%d hE & Thed’ Irikidrerd far(d Dodds o T Mo,
(1) ®pyem 2y Serioir {3) 2RO u( DB NGO

9.  Wild life conservation aims at :

{a) Mauantainog the ceolopical process.

{b) To enrich the wildlife diversity with exotic species,

) Preventing migration of species.

(dy  Maintaiming the diversuy ol i,

g\l DodEm &gﬁmm _

(4} Sorilo ﬁ%ﬁiﬂiﬁl &E.‘l:émgorﬁ S oThE d

(b} fﬂ&g@*ﬁ.‘:u ke w"coga::“@f.l..'& e dhnd Bodrolutda

fo)  emdoe DEDLRE SarDoddao

(d) e ddgredy BdrAodido

The correct statements are

AT IHO Trewmee .

(1) (a), (b (2) (h)(e) (3)  (c), (d) \-G"{/ {a}, (d}
Rough Work
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60. In mammals the secondary palate is formed by the union of

{1} Premaxilla, Pterygoid and Squamosal bones

(2} » Maxilla, Quadrate ang Palatine bones
Premaxilla, Maxilla and Palatine bones

(4) Premaxilla, Quadrate and Squamosal bones

fdoros® sy & s Soond Dud 8 i,
(1) =o®s Yrovgw, |Salroh 5oy wedal epard
{2) mobiSen, LS'J@DE.:I';.; 8oy B“es‘g

aof)s® Jrovges, 2oy ok E‘ﬂs%
4 =mods groge, L&ﬂaaﬁ”g VIOV ?ie;:grmv;p:r

AM 2008 A

61. Which of the tollowing are true to the prnmtheﬁaﬁs ?
A, Pectaral girdle is associated with *T° shaped interclavicle. .
B, Mammary glands arc modificd as sebaceous glands.
C.  Pelvic girdle possesses cpipubic bones.
D. Vertebrae are with epiphyses.
The porrect stalements are
w(cnandc : (2) AandB
{3y CandD (4} BadC
[ Rocr dHels Bobd HoGLS TppgSa ?
A abbeod® T us Ul wodfds sok. .
B, 853 fodes Srdy B0 §8 [Hodes S8ED. -
C. [#Fodpod® ahizd Jmwiw fop.
D. Snarees Jhpdocs modron.
DG TEHpgLR '
A %0odn C (2) ADDo»B .
() CinbosD (4) BRdalnC
Rough Work |
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62,  Swdy the {ollowing table :
' Subclass Skutl Example |
A Anapsida Anapsid_ flatteria
B. lchthyopterigia Svnapsid Pelveusunris
. Synaptosuuria Furyapsid Plesiasaurus )
D. | Lepidosauria | Diapsid Condasauria
Bud DS edpabinin Do,
C | e Serticw e e e
gioﬁ:ga“ _ Jind rgoalr
2§ o ar EoInG ERE et
¢ | seegrarpate DG bdr 38D
D | CRE O Solran G s balr

Which one of the above 15 correct combinanon
P Boowd oows I Y
(A (n B wi c 4 D

63. Smudy the following features of a {ish :
A, Iuis a crossopterygian fish. B.
. It does not exhibit aestivation. D,
Which ol the above are true o “Nencerafodus”™ ?
() AandB (2} DBandD

It is found in the river Chalurnnag
Il 15 an urccotelic animal.

Aand C {43 AandD

[Boi BEH & i O e:ém‘-‘m& esgigoibo Saui,

A 2l el rpladds Zb

B 20 dorindl & Shkati.

C. =b Lﬁ?".:% RIS mg&gm L‘E;’Ju‘iﬁgozﬁtf}a.

D =B g oledEROE 20 .

P ddt IGFRISTURS Dol XBS Trggen I 7

(1} AwmbDolvB (2) DBbokD MA&J&Q‘E:@C (4) AbanD
Rough Work

provided by
www.manabadi.com
www.manabadi.co.in

325§

Courtesy: EAMCET, JNTU



provided by
www.manabadi.com AM 2["]8 A
www.manabadi.co.in

Courtesy: EAMCET, JNTU
64. The macromineral essential tor the formation of insulin is

(1) , Magnesium v (2}  Chlaring
v@{ Sulphur {4} Todine

2 ER G388 abdiraid PrORNE gl furedo

{1 &ﬁlbo.ﬁo 2} §od
\ﬂj, &ugﬁ 4) @w&rdS

65. In rgbbit, the twu fibro-glastic strands of the larynx extend between the
\(th Thyroid and arvtenoid cartilages
(2) Thyroid and cricoid cartilages
(3) Santorini and thyroid cartilages
(4}  Cricord and tracheul cartilaginous rings

Lolew BedHlsd® of ud HBr0E ofmind SOAD SodoPen M Wy wgbod
& oy, '

W Boranh Hbak 55 s yefoer e

(2} Borond dwdob Bysrond ﬁ:;d:w;me.n

(3} @“Dﬁ{EE} 8ol q@mcm& é:a:ﬁatﬂ{‘;:w

(4) Basmowd LBofs roivard Ry HO O

66. The artery which supplics blood 10 the pericardium is
{1) Brachual artery (2} Coronary artery
(}) Vertebral artery Mlntemal Mammary artery

sraciofrbdon &M% SEked Dt S0 Sh0

(1) ermarms Gdon (2) ?’.ﬁgé )
(3) £35S \m’ 0B8N0 Kol
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67. FRcad the statements | _ 1
A. Preganglionic nerve fibres of L1, VI, TX and X cranial nerves are a part of 1he
paragympathetic nervous system.
B. V. VIL IX and X cranial nerves are mixed nerves.
. Trochlear nerves are the largest cranial nerves,
. Abducens nerves are motor and originate from the gassenan ganglia.

Which of the above staggments arc correct 7
(1} Aandl} \‘(Z#m_lﬂx and B {3) BandC (d) Aand C

& @pmeois DGR,

A, UL VILTX, X Sare ardow o lh Hob ﬁjﬂ:ﬁs o d Sodyse B DaSherd
o dh &5&%&5& ar i

BV, VILIX. X £alo oots oyfon rdien

C.  |8'2000 aedhn v& 28 Sdro s

D.  whbdy e, T00hS a6 Dol Bod K8 F el doe.
P aEE SBGLD gLl e

(1} A fodofs D @/Amamn (3) B&doC  (4) AbBobC

68. Study the following table

[ ‘Endocrine gland Hormone Deficlency disorder
A Neurchypophysis Vasopressin ) Diabetes wnsipidus
B, Adrenal curtex Corticosteroids Addison’s diseasc
C. Parathyroid glands Parathormone Myxoedema
D. Thyroid gland Calcitonin Acromegaly
The correct set 18 (20/
(1} BandC Aand B (3) Cand D {4) AandD
1808 HYPED weigoldo Do,
wodd [Hod et S &*dglrany S50
A | Prgef aphl ] GoGBER anybEs
B, whiy¥) Do) L0 s-ES‘ Qmw&m RTTAS TS
C. ey Bdw (Koo 3:01:;15‘&5 Qo8 b
D. | wibdw \fiod - TBJ&S‘IJS S RO
PGS 2

(1) B 0080 C gz)/A #8ofn B (3y CdeanD (4 AHboloD
Rough Waork
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69.  T'he renal flnd 1sotonis to the cortical fluid and blood 15 found in

(1) the collecting duect and ascending limb.
{2)  the distal convoluted \wbule and ascending limb.

the proximal convoluted tubule and distal convoluted tubule.
(4} the ascending limb and descending Limb.

S, ey o (Sddub: Hlomdd de 58 |@he wol prodo
(1} HoMtden o, eaBapel B ST -
(2)  Sror)ii Hoddd 0¥, wbiird iy
\;a( 0D DoHRS T PE, Sroe | HodDd T
(4} wEircd arfrad), iS85S arirdy

T Study the following :
A, The accumulation of pyruvic acid in the muscle causes fatigue.
B. ATP 15 resynthesized in the muscle by the phosphorylation of AP by a
phosphagen.
C.  Cori and Cori cycie occurs in the muscles.
Ib.  The phosphagen in the vertebrate muscle is arginine phosphate.

The comrect set of answers for muscle contraction is
(1) AandD (2) BandD {3y CandD \(4( Band C
(B0d e wesgatibo Jokdn.

A Sodsind® PHDE ubidn Sodobio dod vodh Eotbi,

B. $o48%wd® ADP, g&hal by @-ﬁ-ﬂ;aéﬁ 280 ATP ddadoTdnndpb.
C.  F0-E'0 Hooko SosdBned® e, |

D. 38i0se $odoud® uhds Ryl eb F8%as dodib.

¥odkd ;’:aE‘ﬁﬁméé: Donofol ROEHI earie edy.

(1) Ad8c¥uD (2) B&bokD {3) C&boeD '(H/B oo C

Rough Work
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71. Study the following :
A.  Testosterone influences the male secondary sexual characters.
B.  Ggstation periad in rabnt is approximately 276 days.
C.  Bulbourethral glands secrete a vaginal lubricant.
D, Placenta secretes aestrogen.

The, corTect answer is
Aand D {2) BandC {3) Cand D {4y AandB

|Bob o=t wésuﬁ‘éu Do,

A D% Bgdch BoAY pimred BTHoeS |2er Do Dok,

B. Hodoudt ﬁmaéﬁ: U0 dards 276 Eeren

€. o )Hohd|Ed Hofe o @s oy Grd drgeny S o,
D aoobiy SHiE S o,

ST by
fﬁé}amﬂuum} B &80 C (1) C&dalD {4) A &bdo B

7. In guinea pigs black short hair (BBSS) is dominant aver white long hair {bhss). Durihg a
dihybrid cross, the F, pencration individuals with the genutypea BBRS5; BbSS, BRSs and

BbSs are in the ratia of .

A dothed®, faufy, Y SHre oferor (BBSS), Buwdy iy Fare o oD (bbss)
wirdE Semoly E0A Hodik. &3 Bo¥ln BEIPMe, Bedul Sosrddiine JUNGE
Sos8E* BBSS, BbSS, BBSs &0okw BbSs anng drdre ::F“Qa

(1) 9:3:3:1 (2) 4:2:1:2 3y 1: \.(4/1

73, In heterozygous condition, the mdmdual cxpression of both the alleles in the phenotype is
cxemplified by
{17 Colour himdness w/ AB blood type
(3) BRh fuctor {4) A and B blood types

RSN u.fmfiézs 205 Do oy D¥enser  dade Or% Yolus o dons
E:S_E';t‘ﬁaa}a:dmaﬁa ST S e

(1) %% wosdado \zz(ma 5% Bisitn

(3} Rh s=&¥an ' A éaﬁm B &% éﬁé.u
Rough Work
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74. Cra%%lirﬁegsy:aElMﬁ%El% ated pure breeding animals of different traits within the same breed is
cailed ,
(1) Cross breeding \H‘f’ (ut crossing
(3) Close breeding {4} Species hybridisation

o8 Pendod® (sume breed) 2208 dsruH Dobd Honado B B (D0 o Koiy
R0 & 28Ny

(1) (5o [D%af wotrds W’ I |FrReh wolrd

(3} o8 HAirE Hutio soir {4} ad Do|Sin0 wodrd

.73, The strand of DDNA acting as template lor m-RNA franscription is

A, Coding strand B. Non-ceding strand
.  Sense strand D Anli-sense strand
The correct answer 15

{1y, Aand C {2 AandD

@5/ Band D ¢4) BandC

m-RNA eoDnaedE s dudon= addksd DNA 260 -

A B30l & B. =3 E&ch b
G g doanhE 2 . & &:5@-35 Ll

DG ez

(Iy AmdokC (2} AdubBoD

#~ B&oum D (4} BaubomC

70, The peculiar primitive animals found in Madagascar but absent in Africa are

(1} Elephants {2) Penguins
Lemnurs {4} Lchidnas
AT B k(b 00, wped’ TR, PEgEY EONS |rEE a0 85en
(1) e (2) DoRgSen
(}/ G (4) OBarmyes
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77, “A brief reduction in size of a population due to natural calamities usually leads to random
genetic drift.” For this statement, identify the correct example from the {ollowing :

{13, Human population of Pitcaim [sland
Polydactylic dwarfs in Amish population
{3) Long necked giraffe '
(4) Industrial melanism
SE8 E;‘:E&mgu Sud e ey SAirood’ Llom =0T dhhoe izgﬂﬂaoﬁsé
2285 358 o0 8poa. £ b0 Gurdrdni 8ob T el Moy,
(1) DbeSEoohe Led warer
\(é{ @IbR sa S 10 % worbwrges SDAG drgardy
() oTH s 1OAD 2oed
(4)  SOibs ?rg?"mbéso

78.  Study the following .
A, The cells of malipnant tumors divide erratically.
B.  They are malignant tumors of epithelial cells.
» C.  They are malignant tamors of organs that originale irom mesoderm.
D.  These tumors are found in organs such as spleen and lymph nodes.

Which of the above are true for angio-sarcoma ?
{1y AandB {2y BandD Aand C {(4) BandC

[Bod ardd edigobido Hodudn.

BT ol rginld® Seren, Jaboden Sirdom Ko DUl e,
B, ©dad Swod® J86d oo erginbes.

€. w2 dgieso od :Jtﬁ;,a gwhohore Grdmod éarg?’-:aﬁtu.

D g Hdrhn Dok Fash Emped” 28T trganbes.

o

P oSS YoR@rEh Wk HOELN srgpgen

(1) AswbosB (2) Ba&bowD ARBonC (4 BabonC
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79, Study the following pathogens :
A, Yersinia pestis B.  Borrelio sp.
C.  Oidium aibicans D.  Micohactrium leprae
L. Haemophitus gollinariuvm
Which of the abave causc damage to poultry industry 7
(1) AandD 2T Cand E
{3) BandD ' 4y DandE
Gt (200 gl wE Ao edyobto Dokl
A @By00% BN B. &S00k erd
C. &Goh wBySdy D. R erd0ufr B
E. arardod mdddato
g0’ IO B¢ HoPEE B Do ?
(1) Ao D of 0ot
(3) Budoiw D 4y DawBolw b
80, The complexes formed during immune complex mediated hypersensitivity are removed hy
(1)  Eosinophils and Te cells
{2}  Monacytes and B-lymphocytey
Losinophils and monocytes
(4)  Eosinophils and basophils
BT e ﬁo§§ EpHGEs 08 WUDEST 26188 BoRrud Fonoda
(1) 2L ook Te Smre
(2) 5315*:@&5_3 sobody B-Dodiuden
\(3{ 2GR oSy iy Frdf
(4)  ScBLT Loy ok TIpdy
Roupgh Work
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PHYSICS

81. 1t pewer (P}, surface tension (T} and Planck’s constant (k) are arranged s that the
dimeusions of time in their dimension formulac are in ascending order, then which of the
tfollowing is correct 7

.:J=§a.uggs’w (P), dwdipd (T) sxBody arob Eguvoém (h) &3 oedsin & e
@"’ﬂi)&ﬂ“'frs seodw i abidrer (Khod" Yol sib 2, &1 |Boberd S Hhe asta?
G P h (2) PR T @ T.Ph ) T.hD

— Ao I A A . — . L.
8, Three forces A — (il J ' k), B—{2i -7 +3 i:} and C acting on a body 1o keep il 1n
»
cquilibriwm. Then € 1
JE' = a oA o T aA A =+ L.
2¥ S SePdd” dotah A (4] 0 k), B - (2i- )+ 3 k) 2l € e

BoninDd st C Ded
o Gid) Q) —@i+i0 () 4 @ 2k

83, A pcrson of mass M = 90 kg standing on a smaoth horizontal plane of ice throws a body of
mass m — 14 kg horizontally on the same surfice. 1 the distance between the person und
body after 10 seconds iz 10 metres, the K.I of the person {in Joules) is

90 kg. [Hagord Ho 28 c"a?s_% 28 e 8w Shradd L0l dulwe dond 10 kg
Skeomd He o8 Sipie ol dets B BB Swodsinm M0, 10 8D #demi
DS, B8 Rgg drddn 10m wond, & Bpf N 4§ (&5 &d®)

0.45 2) 45 (3) 090 (4 zero

84, A man is walking due east at the rate of 2 km/hour. The rain appears t him to come down
‘vertically at the rate of 2 kmvhour. The actual velocity and direction of rainfall with the
verticel respectively are

&4 Rl drihyssh Kot 2 km Frio8 ddipodrr, SEke Kokl 2 km 3MoP (Boit
adhdyte Ablowed. SN stw Jide Lia ob HhdHHH O D&

o Eodo &b
\“{‘ a L o
24f2 kmph, 43 (2) NG kmph, 30
(3} 2 kmph, 0° {4) 1 kmph, 50°
Rough Work
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The object at rest suddenly explodes into ltm::mr parts with the mass ratio 2 : 1 : 1. The parts
of cqual masses move at right angles to each other with equal speeds. The speed of the third
part after the explosion will be

SHe HES HY of Y Srdrr (B Brd oo MTondd. w ke
G ooibn D@ 20151 SArd (Gde orber do Sod dw e D & V & 28
RS EE conon: (B Eﬂ'fq s é.uﬁa_ Glofy &

(1 2V \LZ(V'J_ (3) Vv/2 (M) A2 v

T'wo balls of same mass cach *m’ are moving with same velocities v on a smooth surface as
shown in figure. Tf all ¢ollisions between the masses and with the wall ate perfoctly clastic,
the pussible number of collisions between the bodies and wall together 15

Rarn (Sagoed ‘m' fe Sof wmodows DEFnSt Srdd AShemr v Brod SEN
GHOSeCD [Hoirdoddbin o woder ok b Kd Dy edirorw
gﬁbﬂéo @m%ﬁ‘ aoduen mdah K Loege o2 287 Audo wiirerw Dowg

{1y 1 {2y 2 w/fi {4} infinity

L

: m' _ _
A body of mass ‘m’ strikes anather body at rest of mass g - Assuming the impact to he
inelastic the [ractivn of the initial kinetic energy transformed into heat during the contact is

m | $HgoeR Ho w¥ S Moo &l o (S&g o Ao ITE SpHE G5H8.
LT ATO TS @mjiﬁa}éo wond &8 HB%RES SRor &rdd e Ko

Mﬂl (2) 0.2 3y 0.5 (4 .64

Roupgh Work
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%8. A body of mass ‘m’ is placed on & rough wooden plank. One cnd of the wooden plank rised
. Irom the surface of horizontal plane keeping other cnd in contact with the sumface. The body
just stans slide down when angle of the plank with the horizontal is 30°. At that instant how
much force parallel 1o the plank is required w stop the slide down ol the mass ?

m (Sheord fo af HP (80 T8 duop GoSnahs. 9 Dol ol whd dera,
sBin a0, Jodd DSHEd EBerdd 30 Glhe ool 38 TalHd, v L |BobE
23"'{5{15; |erdodolol. wiiyd e q5) derds Sirrod i dod weril [DErhow
&SP 2 dPom sHEE)T

(1) mg o
|
{3) 5? my . {4) ﬁ g

B9, Assertion (A} : A ball connected to a string is in circular motion on a frictionless
horizontal table and is in equilibrium.
Reason (R) :  ‘Magnitude of the contripetal force is equal to the magnitude of the
tension in the string.
The correct answer is
{1) Both {A}and (R) arz true and (R is the correct explanation of (A}.
(2) Both {A) and (R) are true but (R) is not the correct explanation of (A).
{3}, (A)istruc but (R} is not true.
\LA{ {A) is not true but (R} is true.,

DBSR (A) 1 2E ovoedE Dogrhe s wod g 2n §8wmdorudy wgiﬁl}uﬁ
SyErsd Klitod” Hod S FES” God.

m -
oo (R} ; eDBZoS oo Olng; DB o St S$ilpd DBLorerdd

N0 GhN DR grRan

(1} (A) D00k (R) Bods ey Dok (A) BeE), H0 woud S (R),
(2} (A) 20Bodw (R) Suds 2ap s¥ (A) cﬂnéar S8 esoud hde: (R) 5o,
(3)  (A)edry 500 (R) 85y

W A) S5y w0 (R) 28y,
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Circular disc of mass 2 kg and radius 1 metra is rolating abowl an axis perpendicular to its
plane and passing through its centre of mass with « rotalional kinetic energy of 8 Joules. The
angular momentum in (I — seeh ix
2 kg o 885 0% Sbak | Dot ayddhn do o¥ Szsd 0Y o8 vomom
(o EEULCSO o IF e Syre 8] H8YE8 |Pvmo Dafuibdd. sod
e Felat | SHo (Jsoc) oot

(I 8 @ 4 3y 2 @ 1

of.

IT the Larth shrinks such that its density becomes 8 thimes o the present value, then the new
duration of the day in hours will be

Prad EoSy oS R G Dendih B Dan wihddn drdd Do LR, with el e
STORpRG Hosesd’

1y 24 2) 12 W6 4 3

92,

A girl swings on & cradle in sitting position, If she slands, the time period of cradle
decreases
{2} increases
{(3) remains constant
(4) first increaseas then it remains constant
28 2% Bohnd® Sl HKHHD, u o8 Joudd MEe v Bobe eddd
5 "

W ssion @) Dhiodos
(3) goorm dotad (4) | Twikt> DON e oo,

93.

When & wire is subjected to a force along its length, its length increases by 0.4% and its
radius decreases by (.2%. Then the Poisson’s ratio of the matcrial of the wire is

28 Sip ud ddorr o werdy [HETRoNbpd TR PEHS' vhlde 0.4%,
TP god’ S 0.2 Y% wondd v &4 dorg drower S D3
(1) 08 J2r7 03 (3) 02 4 01

Rough Wark
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A vapillary tube is taken from the Earth to the surface of the Moon, The rise of the liquid
column on the Moon (acceleration due to gravity on the Earth is 6 times that of the Moon) is

.{)j/ six tirnes that on the Earth surface {2} :5 that on the Earth’s surface

(3} equal to that on the Farth's surface  (4) zero

w&ﬂ 200 e TEEER BN msE BE Y BENHm @ CERII AR Lﬁﬂﬁnuﬂau
(2T ands fododie oo Do thibas égﬁw?&% 6 D).
2 B0 ey MK 6 B Botod.

(1) e e ) JHS' 65 Dod Gotuod

(1) 2D s =) @B‘JQOE}O Q) JRPROMT Hotnod

Ardginaniol.

95, A solid sphere falls with a terminal velocity *v* in CO, gas. If it is allowed to fall in vacuum,
(1} terminal velocily of sphere =¥ (2), terminal velocity of sphere << v
(3) tetminal velocity of sphere > v \Ldf)/ sphere never attains terminal velocity
o 08 Bifo v wodg Fo8’ CO, T otnpe® (Bots Dikdooh. wi A'¢o drigod” |Bod
Sddgn S e
(1) Fede woiy i =v (2) Faw wody B < v
(3) e vody Hkn > v M Eib® sodg i sosd:

06. A two litre glass flask contains some meroury, It is found that at all temperatures the volume
of the air inside the flask remains the same. The volume of the mercury inside the flask i3
(o for glass = 9 = 1074/°C, y for mercury = 1.8 x 107%/°C)
Bod Ddh ¥ w8 e TS Fod pddiw d0. w) adide o8 g S
ey md dug b Hodredn Srdom &ﬁlgm:é & e ?ﬁﬂﬁﬂi Pt
SORmesy
(e a =9 x 1079°C, iy =182 1074"C)
() 1500ce. (2 150c«. 3 3000 c.. \yn/ 300 c.e.
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97. A lead buller, of initial temperature 27 °C and speed v’ kmph penetrates into a solid
object and melts. I 3% of the kinetic energy is uscd to heat it, the valuc of v in kmph
is (for lead: mclting point = 600 K, latent heat of fusion = 2.5 x 10% T kg™'; specific
heat = 125 J kg~ K1) : '
a8 Ty &8 Hoth SO e 27 °C. w Mo v kmph 3KeE* @%E%él
DTS T D Dow BN, u ot {8 18S° 50% Sk 33
Soberdl GRoirdhad v Deod (kimpheod®)

(DSwiddy | SDerss o0 - 600 K, |Bogsd dfhe - 2.5 x 10¢ ) kg
SFTRe =125 JTke™ K1) '
(1) 3600 \f,’z)/ | 800 3y 1200 (4) 1000

?5. One mole of an 1deal pas undergoes an isothermal change at temperature “T° so that its
voluime vis doubled. R is the molar gas constant. Work dene by the gas during this change is
SRS T 85 o8 TS ety skl ob o $08rHU v Dododes wabpm B
afffier arpsido Bobok. R Rrweb araiy Homoo. B Srdye® arabg T H
{1} RTlog4 (3 RTlog2 (3) Rllogl (4) RTlog3

893, 10 gm of ice at -1} °C s mixed with 160 gm of water at 50 “C contaired in a calorimeter
weighing 50 gm. {(Specific heat of water — [ cal. gm ! “C"Y, Latent heat of jce — 80 cal/em,
specific heat of 1ce — 0.5 cal/pm/™C and specific heat of copper = 0.09 cal/igm/°C). The final
temperature reached by the mixture is
50 | |Sdpord e oof BEP0 Qi S0°C B¢ 100 gm D EON Lnp. 10°C B
fio 10 gm & doohd ES8ei s D8 e di8 Do) (D BraEe = | cal. gm! °CTY,
et [CEHh a0 = 80 cal/gm, swodh 28T — 0.5 callgny™C oA DITFRE
0.09 caligmCY wond Eht‘é?'ﬂ:l?’ﬂu ﬁ.‘ué& B el M
f1y 255°C 2y  30.0°C ' 38.2.°C i4) 40.0vC
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100. A body coals from 70 °C 10 50 °C in 5 minuies. Temperature of surmundingls is 20 =C.
Its temperature aller noxt 10 minutes 1s

28 Bl 5§ Adpes® 70 °C &od 50 °C & Jdoudedod. 2000w sTNS 20 °C .
wond zoFE 10 Jdbary domgd o SRRy GFHE

{1y 25°C @{ 30 °C (3) 35°C (4) 457

101. The [roquencies of three tuning forks A, B and C have a relation 0y > 1y, > ne When the
forks A and B are sounded together the number of beats produced is n,. When A and C are
sounded together the number of beats produced is n,, then the number of beats produced

when R and C are sounded logether is

A, B &gafn C 9)8 fowe Bridorge fudg dogodan ny > ng > 0o A ok B
18 Somoids SobodELLHE Iojodsro Dogg Ny, A Wodl C 8 Loorul
dodod Bl Diyoto Sopg 1y 98 B bah C ol Sobuddy Hyodee
:f:uq:g

' _ n+n, .
(1) ny+n, i2) ¥ | n, — I O g

102, Two strings of the sarme matcrial and the same area of cross-section are uscd m sunometer
cxperiment. One is loaded with 12 kg and the other with 3 k. The fundamental frequency of
the first string is equal to the first overtone of the sceond string. 1f the length of the second
string is 100 cm, then the length of the first string is

N ?’.ngnﬁﬁ Soiirih Sohods Harn fmégﬁ);}é Frogo fo Jod aneds Srarind
paGErRos® adGirfoDe . o8 B 12 kg © Sk, L8 650 3 kg © pecdn
For sbiarts. B B |Sreins Fbeidgin Totd 8 Il o8 Byoedd Shrdds.
Todd &K Srddy 100 cm wond, RS 85 Dl

(1} 300c¢m  (2) 200cm \ge)/ 100 em (4) 50 ¢n
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103, Wave theory cannot explain the phenomena of

A Polanzation B.  1iffraction

C. Compton effect [3.  Photoelectric effect

Which of the following is correct ?

(1} AandB (2} BandD q,a‘)/ Cand D {4 Dand A

d50r Drodod’ THDoNTRN &yRghodin |

A &ydeoa B, <Sdse

C. sops HOS D. et m:sé HDER0

G (Boh 2 DS DO 08 ?

(1) AHGomB (2) BdBokD \Q{E:h:ﬁc.ﬁan (4) Do A

104.. Tn Huygen’s eve piece
{1,# Chromatic aberration is not eliminated

Spherical aberration is completely climinated
{3} Focal fength of ficld lens and eye lens are equal

{4) Cross wires cannit be provided
Sy uf $wlod’
T Sy DbEHo Fefodrbd

\p/ Aot Digdo Br0m Fohodntdidod.
(1) TS So%in ok ¢ Sotine syffodurer Dbl

(4} g diics $BErROUBD,

105. Solar spectrum is an example of
(1} lin¢ emission spactrum
M line absorption spectrum
2 g Dhaw B0 Sordirdn

(1) aged Tgr oo
e Ser Y dico

(2)
(4)

(2)
(4}

hand abserption spectrutn
continuous emission spactrum

e dYs B’:g erae)
ua%él ﬂcrg"-d a‘:g FLTALY
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106. In Young's double slit experiment using two identical slits, \he Intensity at a bright fringe on
ithe sereen is L If one of the slits is now closed, the intensity of the same bright fringe on the
screen will be

ool mow WOE Piod® L8 SXrdRd Tok WOECh ebirholtdyd 3
opBtok HE Gy BEHE L wdhypth of DOES Sradu 80 o dgllicd B
81 '

1
(1) 1 2y 12 \13( L4 | (4) N

59
atE
L]

107. Two bar magnets are placed in a vibration magnetemeter and allowed to vibrate, They make
13 oscillations per minwe when their similar poles are on the same side, while they make 20
oscillations per minute when their opposite pnieq lie on the same side. The ratio ol their
magnetic noments is

Eold eolbd)od IrdEded® Qo domobdiroews God Soliodey Jed.
sl ed a8 (o 2B 3P efdyd =2 D8 15 Foww Jeon
@ oI 08 B Fimrer o8 By GHydpid ol Dardd 20 oo dmow.

&g éowoﬁﬁgoa:;}@éasw 8

{1y 7:25 . ¥ i (3) 25:16 (4) 16:25

108, A short har magnet placed al a certain distance from a deflection magnulomeler in tan A
position produces a dellection of 60°. The magmet is now cut into three equal pieces. If one

picee is kept at the same distance in ‘tan A’ position from the deflection magnetometer, then
the deflection produced is

Tan A gﬂéﬁmﬁs BRTI2EN a8 @rgd dowrobdm oddnd ebhdl ol 08 Dvddu
Wod Fod drdans’ aoddipd 60 3Ao R Swidoi. @ walidr ofind
Fapdy Lk JErdRo dwdour SobadBd. ot 2 By wandd
sohd s drafhn wod wof &rddud® TanA rddnd” eli b wd

BeniZ o @ddnin

(1) 10° {2) 20° \(rﬂj/?:[}" (43 nd°
Rouph Work
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109. A chirge "0 1s placeﬁ at aach corner of a cube of side ‘a’. The potential at the centre of the
cube is

‘AT gheo Mo al Joldw ﬂuﬁar |28 &a’ﬂﬁ?hn 35:5 ‘0 s Hﬁmb‘l Goards. @ puHhy
So|ddn 28 T BJONE e

B
“}_Q__ Q) -4 o Q9 4 =2

T e A e \f3x ot T € i

110. A charge g is placed at the mid-paint of the line joining two cyual charges of Q. If the whole
systemn is in equilibriumn, then the value of q is
E.g“}ézrdﬂ ) wd%o o Tod Mzgu“ﬁfsw& L0 e odig Doy B8 q e addo
GOl winpds & Iude HEi Mo ?g@ﬁa & o q e

m -2 @ +2 -2 @ -2

F

111, I and V are respectively the current and voltage in a metal wire of resistance ‘R*. Two I . V
graphs at twoe different temperatures ', and 'I'; are given in the graph. Then,
I

T,
T

»Y
R ifgo Ko o8 &y HKE Dbl [doririm, S'Paes HHm 1 wdah V. 360 36
adiKden T) ©ban T, o&d [V (rmHen a:mmﬁ‘ iresdhia. sdd,

1y T,=1, 2y T,=T, Jaﬁ/TH*iT 4y T,=21,

112, A pm_]ectur lamp car be used at a maximum vollage of 60 V, its rcmatancc is 20 £}, the
series resistance {in ohums) required to operate the lamp from a T5 v supply is

2¥ [PBELD wupdh SDEPROBENS Hod Sge 60 V. oo 380 20 Q. wey
75 V d850e8 ad@rhodarid [Fadt ﬁuﬁ%ﬁﬁ& SEdo (Laed®y
(1 2 (2) 3 {3} 4 \14() 5
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113. A heater coil working on mains produces 100 calories of heat in a certain time. Now the

heater coil is cut into three equal parts and one part is only used for heating. The guantity of
heat praeduced (in calories) in the same time is

2898 oS8 B T of frodh 88 Podd Datos® 100 Bobo ais D, ¢
Sriod BHG 3 0% grren B voled o8 ol B85 38 Tabirds #BarAY wd
yod’ mlod ogis (Fodod?

.u?o 300 @) 200 @) 10073 (4) 200

114. A circular coil of wire of radius 'r’ has ‘n’ turns and carngs a cﬁrrcnt ‘I'. The magmeatie
induction (B) at a point on the axis of the coil at a distance +3 r from: its centre is
roargrgie, n Wy ol wé 84 HpS' [ Xigh Pardrin did. v 81 g v
So|fo #od \f3 1 &rEos® DBD Dol H wohidy 08 (bl (B) Ded

In In TP} [n
m 2= o 2 ® Te7 @

4 In coryved gph‘tﬂ‘u’.‘-

1135, The north pole of a bar magnet is moved towards a coil along the axis passing through the
. centre of the coil and perpendicular to the plane of the coil. The direction of the induced
¢urrent in the coil when viewed in the direction of the motion of the magnet is

(13 Clockwise
Anti-clockwise
(3} No current in the coil
(4) Either clockwise or anti-clockwise

w8 Soarobdgodin vk, ads Sittud 2f aX Db erdd noporm ot
Soe oo G oo Jowd SGH BN, (W08 AigE |Hocdrin &%
wold o €08 &4 thooe SrkbHd

(1) 4o

W Wb g B

(3} A Sy Xyl Parirde A08E

(4) Sip &% Tor b Gig OF

Rough Work

_provided by
www.manabadi.com
www.manabadi.co.in 5{] S

Courtesy: EAMCET, JNTU



116,

provided by
www.manabadi.com
www.manabadi.co.in A AM 2[“]8 A

Courtesy: EAMCET, JNTU

A transformer has 1500 turns in the primary coil and 1125 turns in the secondary coil. Il the
voltage tn the primary coil is 200 V, then the voltage in the secondary coil i

24 D04EEM (9-gE Svuwbed® 81 % dowg 1500, Ta &4 ety X Wb
Powg 1125, \2reiins Secbod” §ga 200 V wondd o deobod® Fga Deod

(I loov S 150V

(3) 200V {4y 250V

117.

118.

An ol drop having a charge was kept between lwo plates having a potential difference of
400 ¥ i1s in equitibnum. Now another drop of same oil with same charge but double the
radius is introduced between the plates. Thea the potential difference necessary o keep the
drop in equilibrium is '

Fod Debporddtn Ho ol Su Dodiydy 400 V ) Diddw Ko Todk dHole Sueke
SODSH P Bl Diwee FBS” aob. Bl TgIYo KON, wod Nigorddhn fiv o

Caord 3o Dot @ e iy GoURhpid B D ?g&é‘ Godorod

SEGRchs 48 Pesi
(1) 200V (2} 800V

(3) 1600V | L 3200V

The threshold lrequency for a certain metal is v,. When a certain radiation of frequency 2 L |
is incident on this metal surface the maximum velocity of the photoclectrons cenitted is
2 x 108 ms™! I a radiation of frequency 3 ¥, 1 incident on the same metal surface the

maximum velocity of the photoelectrons emitted {in m.5~ 1V is

nE 08 wdogf dddigin v, u S doodh 2 v, THRgd) a8 J8Umiw
DEbonEpd S enddniy wod Jbdowd FE-Jogebe H8Y S
221000 s S S0P 3 v, TrRdingand) J80man déniontgt) Hioon
Sogsie K80 Sk (B )

Sy 2x 108 Mzzxwﬁ

(3) 42 x 108 - (4y 43 =10
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119, The following particles are Baryons :
Nucleons and hyperons
{2) Nucleons and leptons
{33 Hyp ::runs. and leptons
(4) Ilvperons and Bosons

& 300 Seren oot

Of Erotatey tubotn o
@) SrgSafrdy 00k B
(3) rdond dbok BFH

(@) rdovi fwbobs Fariee

120. Ifan intrinsic semicanductar is heated, the ratio of free electrons 1o holes 18
{1} arcater than one

{2} less than one

\jJ{ Bgual o one

(4) decreases and becomes zero

Dgemie of Sirdind 36 ShdHd oy dogabe Ldak dojgre g Fng
(1) eS8 S5y 858
(2) wE& Ex) 8D
& e iy
@) 8D Ardgbhton
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Li%t esofrind® ok D=9k

A .

AM 2008 A

CHEMISTRY

121. The wavelength {in j;} of an emission line obtained for Li** during an clectronic transition
Iromn, =2 ton, = | is (R = Rydberg constant)

ny — 2 85¢ Wod ny = 1 Bk HODED Boddipk

Bevdtd Gt Do aboly, S0 BEokn Jevd (A 08 (R = 05 Yurokin)

IR

nm 5 @

ZF R

4

{3}

4 . 4
3R w” 7R

122. Match the following

List-1 List-II
(A)  mvr-— e {i) Paschen senies
{BY Infra-red (1L} ' Electron total ¢coergy
€ 2 =§ (iii)  de Broglie equation
(D} f; (iv)  Schrodinger 2quation
(v)  Bohr's equation
1808 a8 w8 DEDoK.
weRe-1 wdor-1
(A)  mvr= ;—2 ) RS |dd
{B) Soedore {ii} Qu?jfa:u audo 48
©) » -_% (i) D dav¥dmin
(D} _2—""2 (iv) SBoRE HIESEm
r
. v) &6 HuESemim
The correct answer is / P80 D@L
a) ® © (D)
() &) Gi) G 0
Qi) G & V)
(v) (i) {1ii) (ii)
4) vy (@ {) ()
Rough Work
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- rticle  — o particle | - [ panticle
133, A _Ppoticle - aparticle . - fi particle |
In: the abave conversion, which one of the following is not true ?
(1) A and D are isotopcs
{2) B and C are isodiaphers

(3% Cand D are isobars

\W( A and B are 1sotapes

— [} e o Seaes —f Seodo
A » B

- 320 ———= D0

© drdned H0e0how, & (Hod 8 26 Jeiw 5
() A, Dev g2 e
(2y B, C e pdfdobrobas

(3} C,D e e

M A, B e aFF& e

124, The elements X, 'Y" and ‘7’ form oxides which are avidic, basic and amphoteric
respectively. The correct ordar of their eleciro-negativily s

KLY 2 R durosros S edsofud, gricknd Rdody Oy Jgerd w8 e
S oo, T woe gy Sdo B0 G [Sdan

(1) X>Y>Z
2y Z»Y=X

\;a(x:az:r‘f

Rouzh Wurk
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125, Maich the foliowing :

List-1
{A4) BCi,
(B)  PdBr,
(Cy SF,
Ly 1,
|Bod ) B finlole
adoe-1
Ay BCh
(B) PdBr,
€y SF
Ly T,

“The correct mulch 1s

HOGLS w8

(A (B) (O
(1) iy i v
2y & ) (i
7 T B 0 B 0
@ v v ()

A

)
(i)
(1)
()
{ii)

i}
(it}
{111}
(iv}
(v}

{1i)
(1iL)
(iv}
(¥}

List-11
Linear

Planar Triangular
Tetrahedral
{Octahedral

Square planar

LIl
BROHO

s |Bgbeo
oty
@y Sl
S8 vdeo

AM 2008 A

126. The carrect order of dipolc moments lor NH,, H,Q and CO, molecules is

NII;, H,0 &8ty CO, smde Dediyh Erivgo denke $0 wowd |So
(@)  €O,>NH, > H,0

(1)
(3)

NH, > H,0 > CO,
I-IED > l‘.‘:{]2 > NH,

H,0 > NH, > CO,

Rough Worlk
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127, 40 grams of a samplc of carbon on combustion left 10% of it unrgacted. The volume of
oxygen required at STP for this combustion reaction s
40 [rdwe ES Sarod SEto Jobm womE®  10%  Sirto sdinom
RO cnoh. € Gor Sdgh STP 2 SPReND efyad H8rne
(1) 2241 @/ 67.2 ! (¥ 112! (4) 44817
128. In a flask of ‘V" litres, 0.2 moles of O,, 0.4 moles ol N,, 0.1 males of NI, and 0.3 moles ol
He gases are present at 27 °C. If total pressure exerted by these non- rmulmg gases is 1 atm,
the partial pressure exerted by N, gas is
fﬂ,d arm {2y 03am (3) 0.2am (4) {hlatm
27 °C B¢ V' o HOEreo Ko e& FRn S 0.2 3060 0, 04 S R, 01 &6 ©
NI, %00 03 ZreS © He arofnfen Soiy, dTrall wdg Zradda & ooy wnEso
Sn¥) Awibo Dkbo 2k warekd sondi N, arofng) G ards Sdho
y{ 04 @Iéd"'& 2y 0.3 o?dz“é {3y 0.2 Jé:'% 4y Ol Jd::r‘&
129, The v{}iumes of two HC! solutions A(0.5 N} and B (0.1 N) to be mixed for preparing 2/ of
0.2AN HC! solution
y 057ofA+15]7cfB (2) 15lofA+05{cfB
{3y liofA+1/0fB {4) 0.75fcfA+1.25/cfB
2 & 0.2 N HC oo Dy Sairds Dobards Seofbotie A0S N)B (0.1 N) o7 Sak
HC! (oribeme 0 H0Nrednes
@dl 0585 A+150DB (2) 158A+05b8
3) 1&A+18B (4) 0758A+1258R
130, When 0.1 moles of an acid 15 added to 2 litres of a buffer solution, the pH ol the buffer
decreases by (L5, The buffer capacity of the solution s
Bodk D&Y wd |dorlt 0.1 Irdo wiphoin 000 v apd pH Qo 0.5 AT
SRS, © [Lrdwo CvE; 23l é‘*;‘»ggd
(1) 0.6 2y 04 {3y 0.2 \,(-/ 0.1
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Identify Bronsted-Lowry acids in the reaction given. .

Bod B458° |erT3G-08 wired ©BoYed.
[AL(HO}PY + HCO, == [AI(H,0),0H }J** + H,CO,
(A} (B) (Ch ' (1)

The correct answer is / 802 2arww

(1) {A)(C) 2)  (B), () 2 (A, D) 4) (B} (C)

The cell potential of the following cell at 25 “C {in Volis) is
1508 Sobln chuly, vb F¥w 25 °C 8 (Foed®)

(Pt) H +
[Itatrﬂé ' {UGIM} ] (©. ﬁw] [

£ )
E (yhicy = 0337 V)

(1) 0308 _\9)/11427 (3)  0.308 4) 0337

133,

Which one of the following reactions ocour at the eathode ?

1308 o 8S° ==&'G x5 2200 585 i

(N 20H —— H,0+ 172 0,+20 (2} Ag——Ag 1 &
(3} Fet —— Feit + - \L‘H//Cuz’ I 2e-——Cu

134.

AB 15 an wonic solid. If the ratio of ionic radii of A* and B~ is 0.52. What ig the coordination
number of B~ 7

AH o.% @cﬂ’rﬁg ey AY vboly BT o molrdE mgé‘mt: Jand 0.52 o
- 63:;}55_ Ravdeal pogy alos?

1 2 ) 3 | \,m/; @ 8

KRough Wark
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135, The rate constanl of a first order reaction is 0.0693 min”!. What is the time {in minutes)
required for reducing an initial concentration of 20 mol Flto 2.5 mul /717

uf DRy (Saros GOy RwEy Tew %‘:u‘méa’m 0.0693 ', 20 TS d! o |ardiog
g, 2.5 S8 mESS Sarnd J0) Swire Sh&ed ?

(1) 40 L 30
(3) 20 ) 10

... —_— e —— J—

136. A,

10 minulcs, the concentration of B is found to be 0.18 mol { 1. The Tate constant {in min™)
for the reaction 18 '

—_— Huﬂ is u first order reaction. The initial concentration of A 13 0.2 mol . After

Apn—> Ry 8 (B8 $hro¥ 865 A ol ool mes 02 ISl
10 Dfwhive SGhad B GE a8 018 S8 | & S8 Sen Hurusiv
(P o8

m//ﬂ,zsns () 2303

(3)  0.693 (4y 001

137. 100 em? of 0.1 M TICf and 100 cm? of 010 NaOH solutions are mixed in 4 calonmeter. If
the heat lherated is “Q" keal, the heat of neutralization (AH) (in keal} of HC/ . and

Mad, J'Hm] iz

100 em® & 0.1 M HC/ SBofu 100 em’ © 0.1M NaOH @rdmeodn Sodm 07
Soobo aghy DASTHS. HOL, @00k NaOH,., © S05E6SEm (AH)
(&, srobud®)

(1 10Q \.«z(/-mﬂq

(3) -1000Q 4y -Q
Rough Work

provided by
www.manabadi.com
www.manabadi.co.in

Courtesy: EAMCET, JNTU 53 S



provided by
www.manabadi.com AM 2008 A.
www.manabadi.co.in

Courtesy: EAMCET, JNTU

138;?]1 one of the following reactions is an example of anto-catalysis ?

2 A.SH_,,M ——3 2As i) + EHI{Q}
Fe

' {h}
{H Nl{g} + f’rH:J(g] 2“4[13{ }
(3) 280, .+0O _.EEEL. 250
o) - 2g) Ml

] H_{h .
(4) Ct;“:zoum b Hz”m —“}L.‘GH]:DW} e IIM{_JH”

Bob 28¢® 2.8 oo GEyyin SEgh dodrn 06 7

2 Asllygy —— 2A8,, + 3Hy

3{z0)

| Fe
)
(2) Nz{n.‘l“j + HH?{;‘} _""&F_> 2NII-3|:H‘:|
NO
(3) 280441 Oy b 280,

H'
(1

139..1F11.1 mg o Cal’/, and 12 mg of Mg8Q, ave present in 2 litres of watur, what is its hardness
(in grants CaCOy/ppm) ?
2 &g 9SS 111 Qe CaCl, &uban 12 8. . MgSO, G iF, o =Edgd
{{rm CaCO,/ppm) Joe ? '
{1y 5 \91/1 0
(3 15 ' 4y 20
[4). ‘The carreet order of stability for the following superoxides is
& |Bab Srib w3 )ho HOGD PO (Enty |
{1y _KQ, > Rb), > L0, (2} RbO,>Cs0), = KO,
\j/é‘&l:lz > RbQ, > KO, (4) . KO, > Cs0, > RI:;DZ
Roupgh Work
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141. A mixture of horon trichloride and hydrogen is subjeeted to silent electric discharge to form
A and HC/. A is mixed with N1I; and heated 1o 200 “C to form B. The formula of ‘B’ iy

S @n Esgdu 'E'*Lrﬁ‘m&} Dy D2 MSE e g8 rbaa‘a:éé;):m,
A fbot HC! Ddyderon. A NH, & 582, 200 °C 38 24 37, B 28 d@&00.
‘B Gy rdner

(Iy H,B0, 2) B0,

@{ B,N,H (4) B,H,

142, 1lydrolysis of SiCl, gives cumpound X and HC/ Cn heating to 1000 °C, X loses water and
forms Y. Identify X and ¥, respectively.

(1)  Si0, and Si H,Si0, and Si0,
(3)  Si0, and SiC (4) H,Si0, and SiC

SiC/, wo JRane Dol X bob HC & adpod. 1000 °C B 28 Dabre, X oD
E e om ¥ ¥ Q038apod. X0y Y el Sbidre digodod.

{1} 510, sofodo Si \ﬁ( H,Si0, &foin 810,

(3)  $i0, fBoks SiC @) H,SI0, ol SiC

143, The number of P-O bonds and lone pairs of electrons present in P 0, molecule,

respectively,

PO, smdne® 5y P-0 nogres Sbok 2obd Jugrye modw doggen REdm

12, 16 2y 12,12

(3) & 8§ 4y 12,4
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144, X, Y are anhydrides of sulphurous acid and sulphuric acid, respectively. lhu hybridization
state and the shapg ol X und Y are
X k4
(1)  sp?, angular sp, tetrahedral
(2) , sp*, angular sp?, angular
spe, anpular sp?, planar triangular
{4y sp’, planar : sp, planar )
XY o Hdme uw;gﬁa Rt ekt ﬁw@ﬁg WATO egRyir. X, Y of
BoXbsde 28 DBo 7 v .
D § Y
(1) sp?, EeBoditm L Bl Es
2y sp?, Erdadidn sp?, Scbobin
\/3{ spl, Sedodan ' spl, SEade |3 eee 5B
(4 sp?, Sfedede 4p?, D S
Ca{OH), Ch autg-oxidation
145, T > A : y CaCl, + B
4y} HO i
Identify B in the above reaction.
Ca(OH), ¢ ‘
P Ch , obonten o
( &) —HQD
D B¥gSt B2 Hgodod.
(1) CaOCi, \3})/ Ca{CI0,),
(3) Ca(OH), (4)  Ca(ClO,),
Houph Work
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146. Which of the following stalcments about Noble gases are correct ?
(I}  XeO, is an explosive tetrahedral molecule.

(I} In Fisher Ringe Method, a mixmrg of CaC/, and CaC, is used to remove N, and O,

(III) He and Ne are chemically inert due to lack ol d-orbirals and high ionization potential.
{TV) At 173 K Ile and Ny arc adsorbed on activated charcoal .

The correct answer 15

{1y TandII

(2) and [

(3y W 1 and IV

4y 1,10 T and TV

G &) 3 arolPe HBow |3ob woTrod I8 KB ?
(D XeO, wewsy A b3 oty Do e,

(D - $5-D0R HEBS® CaCh, , CaC, il Djflhr N, 0, aalbPuidy FoRodb
s 8.

(I &ubo fbod VerSw dwsByirds Bhodks, Jind wobdLdn 6o 0N
Gok Hud SSpd® IS,

(V) iDobo fbcts DS 173K 88 oded &'iid wo5imds Dokeron.

éﬁ@:“m BTN .

M) LI
\;,2/ T, I
@) I IL IV

{4y LILITIV
Rourh Work
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147, Which one of the following pairs of complcxes has the effective atomie number equal o 36

for the transition element ¥

DOBES Sy Gl |ArENE DR dopg |Bosdabadd ) bogh Slptere
zobes® 36 K Didedhn?

(l]' [Cﬂ{NHg)ﬁ]{:H ' Kgch{CN]ﬁ]
(2)  [CO(NH,},JCh ; {C(H,0)1C

vﬁ [Fe(CO) ; K,[Fe(CN),]

(4} [Fe(CO)5] ; KyfFe{CN),]

148. 5 ! aqueous solution 15 kept in the presence of oxygen and suitable micro-organism for five
days at 20 °C.. If the O, consumed iz 0.2 p, the BOD valug of the sample is

5 0 wo |ooderd) #8yul Dok wNES drhdpe FNrdost ol Fao drw
20°C B’ag &Houmr 0220, aEnodiEsn weR BOD Dewnd

(1Y 4 ppm
{2) 0.4mglt
u'ﬂ( 40 ppm
(4) 20mgl!
Rough Work
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149. Which one of the fullowing praphs represent the correst order of bailing points (B.F) ol
ethane (1), athyl alcohol (2) and acetic acid {3} 7

&13% (1), a3 wep S (2) whaky 85 o (3) © AU EHS e (RP) ©
SOGHD | Eodwds Brloth s, (208 ardS" 26 ?

)
;.;—ZI-

{H

b
ol =

2
m 4
o —

2
d

HP

‘R_,
\

ol

0
[ =

fr
=i

(4)

-2 |-
] =

Rough Work
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150, Which one of the following reactions yield 2E-butene as the major product ?
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M CH;-C=C  CH,+ Na/NH, (lig.)
{2) CH;-CH=CH ~CH, + Li/ NI, (lig.)
(3) CH,  €=C-CH,+Na/NH,0II
() CH; C=C-CH,+Pd/BaSO,

1Bod arad®, 2E-m-5¢55;a; BRE Gdyhorr af@. ﬂﬁ:‘.ﬁg.bﬁ? :

‘14( CH;-C=C- CH,; # No/NH, {|&)

(2) CH,—CH=CII- CH, +Li / NH, (&)
{3) CH,-C=C-CH,+Na/NHOII

4) CH,-C=C-CH,+Pd/BaSO,

I51.

ldentify C in the following reaction :
Chromic NH, i
C.H, —3 A B ——C
acid - -HO
[Bo8 W$ed’ C & o,
: NH A
cH E25, 4 T8 L0,
B0 -1L,0

(1) CH;~CH,-NH,
(2) CH,-CN

(3) CH,-CIL,-NH. CH,

- )]
& o]
4 CH,-C -NH,

AM 2008 A
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Pyridi ' .
152. CILOH+ SOCI, — -Fﬂ} X+Y+7Z,inthisreaction X, ¥ and Z l'ESpl:{JT.IWEl}’, are

C,H,OH + 30C!, —:’?&ir X+Y+Z wl s‘;dsé"' X, Y., Z we Hiudoe

{1 C,I1,Cl,, SO, HCI
C,H,C/, SO, HC

“(3) C,H,CI, 80C/, HCI

(4) C,H,, SO, Cl,

153. The compound matl reacts with CIT,MgBr 1o yield methane as one ol the products is
CH MgBr & &58¢ o8 DESH ¥ adyHorr oy Ro@ri Rl sty
(i) CH,CHO
{2) CH,COCH,

(3) CH,COOCH,

\;a( CH,CH,0H

154. The organic compound which gives peroxy compound on exposure 0 atmospheric air in the

presence of sunlight is _ _
ed SO0 Dargedy Hrighly Soged mhHE Podmr, sd wody MWy
j?ﬁ:@o&. &2 EOn0 ergim
}

C,HOC,H,
() CHCY,
(3) CH,CH,0H
() CH,CHO

Rough Work
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155. When 1, 1-dichloro propanc and 2, 2 dichloro propane are reacted separately with agueous

patassium hydroxide solution, compaunds *A’ and ‘B’ are formed. Both *A’ and ‘B’ pave
the sume product *C’ on reduction using amalgamated zinc and HCZ, Identity '€’

{1) Propyl alcohol (2) Isoprapyl aleohol
{3) Propyl chloride \,ﬁ')/ Propanc

I, 1- @& D é}ﬁ&ﬁ.ﬁi 2,2 Gf'8 | Tosed Fhm Erido wass aw
[bmbn g e b, 'A%, ‘B ol é&aﬁmw Dfﬁaﬁimw.‘ﬁ‘, ‘B e Sodotsd D
S, elrods 2o Dbk HC! & Lordbolsd o3 @a@%?’m 'O DENE08,
‘C R hiotod.

(1) (26 o) Sy (2) o2 sy ey

() @p5Ed s
H+ exeess Cf
156. CH,CN +H,0 b A y B
Red P

In the above reaction, A and B are respectively

: ' I T 1at-t CIE .
EH:_;CN + HECI > A > B

xp o
B BEeSt, A, B oo S5
\mfcﬁacni}n, CCLUOOH

(2) CH,CH,0H, CH,CH,C!

{3) CH,CHQO, CCELCHO

(4) CH,COCH,, CCLCOCH,

Rough Work

provided by
www.manabadi.com
www.manabadi.co.in
67T S

Courtesy: EAMCET, JNTU



provided by
www.manabadi.com : AM 2["]8 A
www.manabadi.co.in

Courtesy: EAMCET, JNTU

157. Hitrohenzene undergoes reduction with Zn/aleoholic KOH to form a compound A, Vhe.

number ol Sinma and Pi bonds in A, respectively, ary

Bt Bodh, Zn/oyy FOF KOH & Sabdmiw Jed A w3 STy DEEIPok.
A & o brry RoBoiln W wowrw EeTeobeta

() 176 @/2?,5.

{3 27,8 {4y 17,8

158. Which one of the following compounds helps in achieving eyuilibrium hetween O, and CO,
in atrgusphere 7
v/ Chloraphyll
{2} Vitamin-B,
(3} Porphyrin

{4)  Acetyl salicylic avid

Bol o8&, Feddncs® 0, , CO, v My Sher ha bd;jié@vﬁ}é At adnd Sorgo
28 ?

J( FES
(2) Qe By
(3) 25oS

(4)  ohBd JrOhsEn

Rough Work
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159. ‘Natural rubber’ is a polymer of
(5884 oDoT Guydh HD TwEy, &G

CH,
() CIL=CH-CH=CII, \/(Q‘J/CIIE=CH—(!3 - CH,
| CHy CH;

(3) CH,= ¢ ¢ ~CH, (4) CH,~CH CH, CH,

160. Match the following :

List-1 List-11

{¥itamins} .

Ay B (i) Rihoflavin
By B, (i)  Pantothenic acid
(C) B_:, (i) Niacm
(D) By (iv)  Thiamine
e b b,
_ arfor-l (SRhe) erdar-1T
(A) B 0 3R
(B) B, (i) rofBIE windy
) B (i) RobRS
(D) B (iv) Petbads
The correct match is '
bels) @é g

(A) (B) (C) (D)

Ay o o @ a6
(2} {iv) (iii) {i) (ii)
3y Qi)  (vr (i) (i}
v O G i
Ruugh Work
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